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MATH ON THE JOB

Terry Robichaud is the department manager of the deli at Pete’s
Frootique grocery store in Halifax, Nova Scotia. Terry is Acadian. He
grew up in Halifax, where he attended St. Patrick’s High School.

“Some of my duties and responsibilities are to lead and motivate
staff and provide vision and planning for business growth,” he says.
Terry also controls departmental finances such as wages and sales
targets. “| use math to calculate prices for retail sales. From this |
ensure our company achieves the appropriate profit margin on each
item sold,” says Terry.

Terry's background as a Red Seal chef helps him Terry is considering buying a new type of samosa to sell in the deli.

provide his customers with appealing, healthy food. He will buy them frozen from a wholesaler, to bake and sell in the
deli. One wholesaler sells a box of 50 samosas for $28.00. Another

wholesaler sells a box of 75 samosas for $41.25. What is the unit price at each wholesaler? What is the unit price difference
between the two companies? What factors apart from price might Terry want to consider?

SOLUTION

Calculate the unit price by dividing the total price
from each wholesaler by the number of samosas.

‘Wholesaler A: $28.00/50 = $0.56/samosa
Wholesaler B: $41.25/75 = $0.55/samosa

‘Wholesaler Bs unit price is $0.01/samosa less
than Wholesaler As price.

Other factors to consider include the following:

+ Has Terry bought from this wholesaler
before and has he been happy with their
products?

= Is the product in stock when he needs it?

« Does the wholesaler carry other products
that he needs so that he can optimize his
buying efficiency?
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- ice The cost of one unit; a rate
“““ expressed as a fraction in
which the denominator is 1.

*** allows you to compare prices and determine the 'best buy'
EX: Five MVHS T-shirts cost $40. The unit price is :

40.00 - $8.00
5

R e

< b -l nale The rate or cost for
= 1 i

" :; "“I one item or unit.
o

EX: Lay's chips can produce
25 000 bags of chips in a regular
8 hour shift. The unit rate is:

25000 - 3125 bags/hour
8
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Exampe #1:

Shoppers has a sale on Sunday where you can buy six 710 mL of
pop for $1.99. Calculate the unit price of 1 pop.

4 0\73 Lo)(’,u

1.99-6
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Example 2:

Shortcake picks fresh strawberries at a U-pick farm in Derby.

If she fills a pint basket (0.5506 litres), it cost her $1.50. If she

fills a 4-litre ice cream pail, it will cost $10.00.

Which size of container will give her a better buy?
1.3, 33586

Q\?\’f
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COMPARISON SHOPPING...

- let's go online and check out their site / sales flyer!!!

Super Value VS ~ Sobey's VS ~ Shoppers
S 5 ] S


http://www.atlanticsuperstore.ca/en_CA/flyers.pageview.banner@ATL.storenum@332.week@current.html
http://www.sobeys.com/en/weekly-flyer/
http://www1.shoppersdrugmart.ca/en/flyer
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HOMEWORK...

P. 26: Questions #1 - 7.

Worksheet - Unit Price.pdf
?

1.2 Build Your Skills Detailed Solutions.pdf
D



Attachments

Q 1.2 Build Your Skills Detailed Solutions.pdf
Q  Worksheet - Unit Price.pdf



Section 1.2 Unit Price, Build Your Skills, p39—40
Student Resource p26-27

Build Your Skills
1.
$1053.00
1 - $87.75
The unit price of each sink is $87.75.
2. Package A:
$19.99

7= $2.86/kg
Package B:
$35.95

= $2.57/k

14 - $257/ke
Package C:
$50.99

1 $2.43/kg
Package C has the lowest unit cost.
3.
$120.00

= $30.00/lock
$192.00
e = $32.00/lock

The first supplier has the lower cost per lock. When selecting a lock, you should also
consider the quality of the locks, since you want them to be secure.

4. a)
$15.49
= $7.75/shirt
$22.99
7= $7.66/shirt

b) 2 packages of 3 plus 1 package of 1?

2($22.99) + $9.98 = §55.96

Or 1 package of 3 plus two packages of 2?

$22.99 +2($15.49) = $§53.97

The best combination is to buy one package of 3 shirts and two packages of 2.

5. a) First, convert everything to kilograms so all the denominator units are the same.
500 g=0.5kg
Now, calculate unit price.

$7.50 _ $15.00/k
05kg  o1>00/ks

$12.50/kg

$1950 o
15kg _ 13.00/ke






So, the second price is the best buy.

b) Which combination will be the best price for 2.5 kg?

Two of the second price plus one of the first?

2($12.50) + §7.50 = §32.50

Or 1 of the second price plus one of the third?

$12.50 + $19.50 = $32.00

(You can factor out buying mostly from the first option because it is the most expensive.)
The best price for 2.5 kg of meat can be obtained by buying 1 kg at the second price and 1.5
kg at the third.

6. Convert the denominators to kg.

250g=0.25kg

500 g=0.5kg

Then calculate unit price.
25 _ $17.00/k
025kg  01700/ke
$7.95
Fkg = $15.90/kg
$29.50

> = $14.75/kg

The last package of meat has the lowest unit price. Nonetheless, the other store has two unit
prices that are lower than this, so it would be better to buy your meat at the other store.

Extend Your Thinking

7. There are a couple of ways to solve this problem. Here is one option. First, you need to
figure out which kit has the lowest unit price so you can see which kit is the best value. First,
calculate the price per worker each kit can cover.
Kit 1:
$42.50
= $4.72

9
Kit 2:
$58.25

40
Kit 3:
$70.50

T $0.94
Kit 3 has the best unit value. How many does Jason need?
First, divide the kits needed by the number of workers to see how many kits are needed.
250 workers 334

Then calculate how much these 3 kits would cost.

3 x $70.50 = $211.50

How many workers still need kits if Jason buys 3 of kit 3?

First, calculate the maximum number of workers these 3 kits will cover.

3 x75=225

Then, calculate how many workers still need to be covered by subtracting 225 workers
(already covered by 3 of kit 3) from the total number of workers.

= $1.46






250 —225=25
Kit 1:

25—278
9_ .

Calculate the total cost of these 3 kits.

3 x $42.50 = $127.50

Kit 2:

One kit 2 will cover all 25 workers at a total cost of $58.25, which is a better buy than three
of kit 1.

Now, calculate the total cost.

$211.50 (3 of kit 3) + $58.25 (1 of kit 2) = $269.75

The least expensive combination is 3 large kits and 1 medium kit at a price of $269.75,
before taxes.
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Chp. 1: Unit Pricing & Currency Exchange...Unit Price

BUILD YOUR SKILLS

1. Vikram purchases 12 sinks for his plumbing business at a wholesale
price of $1053.00. He wants to sell each sink to a different customer.

What is the unit price of one sink?

2. A horticulture technician buys lawn fertilizer for several customers. She
finds the following prices: 7 kg for $19.99; 14 kg for $35.95; 21 kg for

$50.99. Which package has the lowest unit cost?

3. Alocksmith in Campbellton, New Brunswick, is buying locks for a new
apartment building. One supplier sells locks at $120.00 for four. Another
supplier sells six for $192.00. Which supplier has the lower cost for one

lock? What other factors might you consider when selecting a lock?

4. Joel is a salesperson in a department store that sells T-shirts individually
and in packages of two or three. One T-shirt sells for $9.98, a package of
two sells for $15.49, and a package of three sells for $22.99.

a) Find the unit price when T-shirts are sold in a package of two. How
much is the unit price in a package of three?

b) Suppose a customer wants to buy seven T-shirts. Which combination
of packages will be the least expensive?

5. The meat department at a large supermarkel sells boneless steaks at the
following prices:

«  $7.50 for 500 g;
«  $12.50 for 1 kg; and
» 51950 for 1.5 kg,

a) Which of these packages has the lowest unit price?

b) If a customer needs 2.5 kg, which combination of packages should he
or she buy to get the best price but not have leftover meat?

Many people shop around to
find a good deal on meat before

they buy it.
6. A different store sells boneless steaks for the following prices: 1.2 UNIT PRICE
+ $425for250 g; BUILD YOUR SKILLS, PAGE 26
« 5795 for 500 g; and
+ 52950 for 2 kg 1 38775
2. The third package (21 kg for $50.99) has the
lowest unit cost, at $2.43/kg
Which of these packages has the lowest unit price? How do these prices 3. The first supplier has the lower cost per lock.
compare to those in question 5? )
Answers will vary.
g 4. a) package of two: $7.75/shirt
Extend your thmklng package of three: $7.66/shirt
FE RT l L I ZE Rs b) The best combination is to buy one

7. A potash mining company in northern New Brunswick is buying
industrial first-aid kits in bulk. First-aid kits are available in three sizes.

« A small kit costs $42.50 and contains enough supplies to meet the
needs of 1-9 workers.

* A medium-sized kit costs $58.25 and will serve 10-40 workers.

« A large kit costs $70.50 and will serve 41-75 workers.

Jason, the buyer, needs to buy kits for 250 workers. Which combination
of kits will be the least expensive? What will the total cost be before
laxes?

n{-

‘49 2n

package of 3 shirts and two packages of
2 shirts for $53.97.

5. a) The second price is the best at $12.50/kg.

The best combination is to buy 1 kg at
the second price and 1.5 kg at the third
price.

b
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6. The last package of meat, $29.50 for 2 kg,
has the lowest unit price; the store from
question 5 has two unit prices that are lower
than this, se it would be better to buy your
meat at the other store.

'

i
1Ay

|

|
SLTES

Canada is the world's largest
potash producer. Potash is used Extend your thinking

to make fertilizers.

7. The least expensive combination is 3 large
kits and 1 medium kit at a price of $269.75.

Chapter 1 Unit Pricing and Currency Exchange 27
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